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New Stuff



Correctness

• For any algorithm/function/program, define a precondition and a postcondition.


• The precondition is an assertion about the inputs to a program.


• The postcondition is an assertion about the end of a program.


• An algorithm is correct if the precondition implies the postcondition.


• “If I gave you valid inputs, your algorithm should give me the expected outputs.”
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Correctness of Mergesort
Assuming merge is correct
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Multiplication
Grade School
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Multiplication
Divide and Conquer
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Summary
CorrectnessofRecursiveAlgs

By induction on the sizeofthe inputs
Baseofthe induction is the

Base caseofthe
recursive function
Inductive stepcorresponds to therecursivecalls
how theresultsofthosecalls are

combined
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